
Seating Arrangements 

1. There are five students P,Q,R,S and T who are sitting on a bench. T & 

Q are sitting together, T & R are sitting together, P is on the extreme 

left, Q is second from extreme right. Who is sitting between P &Q? 

A)Q & R 

B)R & T 

C)R & P 

D)R & S 

2. Five persons are standing in one line. One of the two persons at extreme 

end is a professor and the other is a businessman. An advocate is to right of 

a student. An author is to the left of the businessman. What is the position 

of advocate from the left? 

A)2nd 

B)3rd  

C)4th   pro stu adv aut bus 

D)1st 

3.  A,B,C,D,E and F are sitting in a circular manner facing at the centre. D is 

between F and B, A is second to the left of D and second to the right of E. 

Who is facing A?  C 

A)B   A  E 

B)F       F  B 

C)D    D 

D)B or F 

4. Six friends are sitting in a circle and are facing the centre of the circle. 

Hari is between Prakash and Pankaj. Priti is between Mukesh and 

Lalit.Prakash is to the left of Mukesh. Who is to the second right of Hari? 

A)Lalit 



     Pri 

B)Mukesh  Lat   Muk   

C)Prakash  Pan   Pra 

D)None of these  Hari 

5. Six people P,Q,R,S,T and U are sitting in a circular manner facing towards 

the centre. 

 P and Q are opposite to each other 

 R is to the left of P 

 T and S are opposite to each other 

 U is to the right of S 

then who is to the left of Q?   T 

A)U      R  Q 

B)T      P  U 

C)Q       S 

D)S 

6. Five friends are seated in a bench for a photograph, Imran sits to the 

immediate right of Ravi, who is not beside Hari. Latha sits to the immediate 

left of Suresh and is at the corner of the bench. Who among the following 

are sitting at to the right of the Suresh ? 

A)Imran 

B)Hari Hari Imran  Ravi  Sure Lat 

C)Ravi 

D)can't say 

7.  Five persons sits in a row. Hari is not next to Kamal, Girish sits two 

placeses to the right of Javed. If Mohan is sitting two places from the 

extreme right, then who sits at the extreme left end of the row? 

A)Gari 



B)Mohan 

C)Kamal 

D)Javed 

8. Six friends were sitting around a circular table facing at the centre 

Amar,Kiran,Jeetu,Hemanth,Dhawan and Manjeet. Jeetu is sitting 2 places to 

the left of Amar and opposite to kiran. If Dhawan and Manjeet are opposite 

to each other. Who is sitting left of Jeetu? 

A)Dhawan 

B)Manjeet 

C)Kiran 

D)Hemant 

9. In an Exhibition seven cars of different companies - Cadillac, Ambassador, 

Fiat, Maruti, Mercedes, Bedford and Fargo are standing facing to east in the 

following order : 

1. Cadillac is next to right of Fargo. 
2. Fargo is fourth to the right of Fiat. 

3. Maruti car is between Ambassador and Bedford. 

4. Fiat which is third to the left of Ambassador, is at one end. 

Which one of the following is the correct position of Mercedes ? 

 

A)Next to the left of Cadillac 

B)Next to the left of Bedford 

C)Between Bedford and Fargo 

D)Fourth to the right of Maruti 

10. Which of the following groups of cars is to the right of Ambassador ? 

 

A)Cadillac, Fargo and Maruti 

B)Mercedes, Cadillac and Fargo 



C)Maruti, Bedford and Fiat 

D)Bedford, Cadillac and Fargo 

11. Which one of the following statements is correct ? 

A)Fargo car is in between Ambassador and Fiat. 

B)Cadillac is next left to Mercedes car. 

C)Fargo is next right of Cadillac. 

D)Maruti is fourth right of Mercedes. 

12. Which of the following statement is correct ? 

A)Maruti is next left of Ambassador. 

B)Bedford is next left of Fiat. 

C)Bedford is at one end. 

D)Fiat is next second to the right of Maruti. 

13. Which of the cars are on both the sides of cadillac car ? 

A)Ambassador and Maruti 

B)Maruti and Fiat 

C)Fargo and Mercedes 

D)Ambassador and Fargo 

14. Five girls are sitting on a bench to be photographed. Seema is to the left 

of Rani and to the right of Bindu. Mary is to the right of Rani. Reeta is 

between Rani and Mary. 

Who is second from the left in photograph ? 

A)Reeta 

B)Mary 

C)Bindu 

D)Seema 



15. Who is second from the right ? 

 

A)Mary 

B)Rani 

C)Reeta 

D)Bindu 

16. Who is in the middle of the photograph ? 

A)Bindu 

B)Rani 

C)Reeta 

D)Seema 

17. Who is sitting immediate right to Reeta ? 

A)Bindu 

B)Rani 

C)Mary 

D)Seema 

18. Eleven friends M, N, O, P, Q, R, S, T, U, V and W are sitting in the first 

row of the stadium watching a cricket match. 

i. T is to the immediate left of P and third to the right of U. 

ii. V is the immediate neighbour of M and N and third to the left of S. 
iii. M is the second to the right of Q, who is at one of the ends. 

iv. R is sitting next to the right of P and P is second to the right of O. 

Who is sitting in the center of the row? 

A)N 

B)O 

C)S 



D)U 

E.None of these 

19. Which of the following people are sitting to the right of S? 

A)OTPQ 

B)OTPR 

C)UNVM 

D)UOTPR 

20. Which of the following statements is true with respect to the above 

arrangement? 

A)There are three persons sitting between P and S 

B)W is between M and V. 

C)N is sitting between V and U 

D)S and O are neighbours sitting to the immediate right of T 

21. Who are the immediate neighbours of T? 

A)O, P 

B)O, R 

C)N, U 

D)V, U 

22. If Q and P, O and N, M and T, and W and R interchange their positions 

then which of the following pairs of friends is sitting at the ends? 

A)P and Q 

B)Q and R 

C)P and W 

D)W and R 



23. A, P, R, X, S and Z are sitting in a row. S and Z are in the centre. A and P 

are at the ends. R is sitting to the left of A. Who is to the right of P ? 

A)A 

B)X 

C)S 

D)Z 

24. A, B, C, D and E are sitting on a bench. A is sitting next to B, C is sitting 

next to D, D is not sitting with E who is on the left end of the bench. C is on 

the second position from the right. A is to the right of B and E. A and C are 

sitting together. In which position A is sitting ? 

A)Between B and D 

B)Between B and C 

C)Between E and D 

D)Between C and E 
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